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B EWRY 7 3) BT — A1
f& Us—v OUT[1][2][31[5][6]1[7] I N[10][14][15][16][17][18] 20204E03H24H  (kHEH)

JIEAT. K 4 ouT IN G HC NET * W [NVEVAR d
1 f&fE  FET 44 47 91 21.6 69.4
2 BE)IIR= 40 47 87 15.6 71.4
3 & 46 45 91 19.2 71.8
g AGI 44 45 89 16.8 72.2
5 FH— 48 47 95 22.8 T72.2
6 RAMER 53 48 101 28.8 72.2
7 FLEERAT 44 50 94 21.6 72.4
8 K TiHE 41 16 87 14.4 172.6
9 AARIZE 41 45 86 13.2 72.8
10 {f A =H] 44 42 86 13.2 72.8
11 E H i 49 47 96 22.8 73.2
12 {8 ZHC 40 42 82 8.4 73.6
13 EBFIEFD 42 46 88 14.4 73.6
14 PEEE— 44 43 87 13.2 173.8
15 RO 42 38 80 6.0 74.0
16 r# F— 45 41 86 12.0 74.0
17 B3 fEHE 53 45 98 24.0 74.0
18 RESS 44 47 91 16.8 74.2
19 HHHEE 44 47 91 16.8 74.2
20 = HAE 43 16 89 14.4 74.6
21 M E B 42 46 88 13.2 74.8
22 I EALEA 48 46 94 19.2 74.8
23 HHTIE 42 39 81 6.0 75.0
24 HH I 47 16 93 18.0 75.0
25 B A ] 58 47 105 30.0 75.0
26 FAHRT AT 43 43 86 10.8 75.2
27 )1 ERS 45 16 91 15.6 75.4
28 fHE =5 46 45 91 15.6 75.4
29 /ML AR— 54 49 103 27.6 75.4
30 HATREE 42 42 84 8.4 75.6
31 FERT R 52 50 102 26.4 75.6
32 H)II fHE 55 53 108 32.4 75.6
33 M EFEW 51 50 101 25.2 75.8
34 HEE LT 46 48 94 18.0 76.0
35 b#H HEHIE 48 16 94 18.0 76.0
36 A FET 52 54 106 30.0 76.0
37 /INERER 47 16 93 16.8 76.2
38 REHFR 47 43 90 13.2 76.8
39 LF eSS 53 47 100 22.8 77.2
40 KAE B572 49 51 100 22.8 77.2
41 JbfriE 47 45 92 14.4 77.6
42 fE T 53 56 109 31.2 77.8
43 K2 FEERI 48 48 96 18.0 78.0
44 xR I 53 54 107 28.8 78.2
45 fiJR  1EIA 54 50 104 25.2 78.8
46 EETEFEIKEA 55 53 108 28.8 79.2
47 i+ EE—ER 54 58 112 32.4 79.6
48 LTF & 55 56 111 31.2 79.8
49 FH)II B 49 51 100 19.2 80.8
50 JIIA 5t 60 57 117 36.0 81.0
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B EWRY 7 3) BT — A1
f& Us—v OUT[1][2][31[5][6]1[7] I N[10][14][15][16][17][18] 20204E03H24H  (kHEH)
JIEAT. K 4 ouT IN G HC NET * W [NVEVAR d
51 [AFHIETE 53 56 109 27.6 81.4

52 FHER 54 51 105 22.8 82.2

53 FJIl  fH— 61 57 118 34.8 83.2

54 1 Rip 61 58 119 33.6 85.4

55 JE3L Ot 65 57 122 36.0 86.0

56 J\AREET 57 64 121 33.6 87.4




